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@ GFEPOMEHEST LT v T A p2exercise0201.c
1: #include <stdio.h>
2
3: int main(void)
4: {
5: double a, b, c, d;
6
7 a = 1.25;
8 b = -0.35;
9: c = 5.2e-1; — M p.39 &M
10: d = 2.2e+0;
11:
12: printf (" (%f + %fi) + (%f + %fi)=", a, b, c, d); — M p.149 B
13: printf ("%e + %ei¥n", a + c, b + d);
14:
15: return O;
16: }
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@ THIOMAEFET 27w 7T A p2exercise0203.c
1: #include <stdio.h>
2
3: int main(void)
4: {
5: double a[2][2] = { {1, 2},
6 {4, 3} };
7
8 double b[1[2] = { {5, 6}, {8, 7} }; — BANDUT- D HAEWE 7]
9:
10: printf ("5 117 ¥ty f¥t%f¥n", al0][0] + b[0][0], al01[1] + b[OI[11);
11: printf ("5 217 :¥t%f¥tf¥n", al1]1[0] + b[1]1[0], al1]1[1] + b[1][1]);
12:
13: return O;
14: }
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